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1 2 3 4 5 6 7 8 9 0 U 12 13 14 15 16 17 18
O3epHsAHCbKe 2 13 8,0 8,0 8,0 HOAne+Au6+bkn 100 0,60 1A 3l 36 555 MpoTreposinHi CcPB KopeHeBa rybka 428
O3epHsAHCbKe 3 7 4,2 42 4,2 9An1bkn 53 0,80 1A 24 24 490 EkcnnyatauiinHi CPB CTOBOYpPHI LWKIAHWKMN 51
O3epHsIHCbKe 18 13 17,0 100 10,0 109ne+BKn 55 0,85 IA 24 24 450 3axucHi CPB CTOB6YPHI LLKIgHVKN 532
BCbOI'O CPB 29,2 222 22,2 1011
Pasom no n-sy 29,2 222 22,2 . 1011
MonsHnubKe 3l 30 45 45 45 7Ane 1Au626kn 53 0,70 IA 24 24 400 Pekpe-o03a0p CPB CTOBOYpPHI LWKIAHWKMN 65
MonsHnUbKe 3l 2 70 70 7,0 10Ane+Ay6 45 0,80 1b 22 22 480 Pekpe-o3g0p CPB CTOBOYpPHI LWKIAHWKMN 35
BCbOI'O CPB 115 115 115 100
Pasom no n-sy 115 115 115 100
Pasom no init 33,7 33,7 337 1111
3 Hux CBP 337 337 337 1
gn S---- 1111
OnpekTop dinii Mukona BaHmKypak

«BopoxTaHcbKe J1IM»
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